ERRAROBRBIE®RT — 2 X—XBISH—F 20135108248 (K) 14EIF5I3H
3R BEEES iR LYY B
[A&4£] 17 :400,000  ~ 23#%&:80,000"  33:60,000H .~ 437 :40,000 ™ .~ 5 7 :20,000

B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

o R R BE :15. - . - RERE ()

2l Er7zE-2 o2 530& 1(1_5)1 1-1 39.8 4 (4;4) el BiE

LV TATIA LR BENTIISTY A B
S JFE LT S HPA 15. - 6| — AL (leiis)
2 A == i 2 54.0 1(125)5 53 .6 ! ff) HEX i
RIAYCFEaT BELHEDS IR
- B o2 | BEEC 1:15.6 2-2 40.1| — 2 444 | BREE] (ILiEE)
3011 WAXT4Hh—F 54.0 (1/2) o) BEEFILEA =
R:2&2-U>70-X #:L> E&HL BRI
5 : o2 | RERH 1:15.7 3-3 39.8| — 5 420 |EZEE (biEE)
alglo|1T¥HNF KX 5.0 112 o | & mixmss
L:77NTZT B:UHE-xY =iE B
i ¢ BT £16. - 8| - BT (LB
51718 7Yy a—N=ib o2 B 1(126)1 55 [39.8 10 fﬁi BT i
74 FaA> 0K B:aON/FrvlTaq =M %K
o0 BRERS 2 :16. — . — AigEE (dtieE)
6 6 IA(2>TL7 i 2 54.0 1(11/62)2 6% 98 ° ?_f) THREE -
RIAYFE2Te BiZXH—Ly ki B OHiE
N - TBEREH : . — 1=FIBx (AbimE)
7 NEPZ A it 2 A 1.(147).0 7-7 40.1 9 <4+126) ¥§§§E BiE
RNAT—=—L B:d-VFrIt—Fa—> Il g—
. HLHX ; - — FE#8 (dteE)
o Il osemsmas w e | 1R b | e el - || e |gntees
I BiAR— XA INEERR =
2 hEHEE 7. - . — WMARRR (dbmE)
ogf 4| TrRT AXLIL " 54.0 it M ° f_140) ) T
LewyAdyR B:A—02 3037 TADAS
: T Ft 18. - 8| - JIBSB (i)
10155 2HE2 14 YT i 2 55.0 : 1(128)0 o8 08 8 (4—762) BEZE -
RL:T7H4FALTNK B:ANIIVIIL fBHE Z

® 1—F—@EBIERL
13—7-—
2a=5"=
== 7,1,(3,9),8,6,2,10, (4,5)
43—+ — 7,1,(3,9),(6,8),2,(5,10) ,4

[ /N
B 7 900H 714K 3-7 360 B 3-7 860 JEE 1-3-7 660
B B 7 240H 1-7 230M B = Sl 820M JEE 7-3-1 7,430

3 120 1-3 170H B H 7-3 2,020
1 130M

ABICOVWTRDTEEERROODE. TR LIV,




